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1. An equation of the tangent line to the curve y = — at the point (2, —) is
z

$ 3
(a) r+4y=4 - v (correct)
(b) z—4y=0 e
' e
(c) 8z +2y =17 slope = Y ]x:)\ 4
(d) 3z +4y =8 -y ¢ . L)
k- Eq - -9 4
(e) z+4y=1 ; i \
=) 3‘5 =-¢| X +-‘i
1, 4y=2 =X ¢2
== 'x—"'q.j =4
~y T2°
$3Y 2 1f f(z) = /=L, then F(3) = ¥
/ | [ ot = (x=1) o1 =(x%1)-)
,F{)t):'{(;—:,) (1 )2
V2
(R = -ll2 (correct)
; \ (2= .
(b) Q ik oca ('1")2
4 -\
.‘/5 / _L(_ ,’L ; _:_‘T
() = o) = 2 2
() V2 T
vz B
(€) -2 R
= ':];; - 4 \.(_7_
e
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~ #3L
S 4% 3. The tangent line approximation of f(z) = % — arctan(z — 2) at the point (3,0)
is given by ./ |
Fyen S —o o
|+ (x2)F
(a) 3= = (correct)
2 ( =l . \
(b) y=3-2 e e |
z—3
(y=— g = $3) + 113) (x-3)
(d)y:2$_6 = 0 —-l(x—s)
©y=1-3 ;
y e 3 ) 3 -
A
~ #1 222 — 3z 4+ 2
~3z+2
34 [ 4. The slant asymptote for the graph of f(z) = d = _ml 1S
(a) y=2x-—1 (correct)
(b) y =2z +1 v
(c) y=2x+2 _’_}19(— %x+7\
4 5 =
= 2
(e)y=xz—-2 -x +|

\‘\')-zg.x—\ 1L
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$59 5. Ify = cosz, then ' =

(a) —4cos?z - (cos®z — 3sin’z)
(b) —2cos?z - (2cos®z — sin® 7)
(

(c

d) 4cos?z - (cos? z — 2sin® )

)

)

) 3cos?z - (cos®x — 2sin’ )
)

)

(e) cos®x - (—4 cos® z + 3sin’ )

o B9

C <4
> D

6. If sinhz = —%, then cothz =

Page 3 of 10 | MASTER |

/ .
.‘j - 4 COSL ¢ -Sinxc

=
= wl] COSA =S

(correct) o
e D o5 x

3
3”: -y [Cas x . losn + SinX
. (-Saﬂx‘

~yk T cofx~5\§*]

d i 3
__y Cosx [ Cosx = 35m%)

1]

(as\lx 13
T
(a) —@ .{;-’; (correct)
2 w2t 3 B
\/ﬁ - | Cosh X 3
(b) =5~ ] CoshoC
th =
(c) 2v3 e Sk X
(d) —@ VB /s A%
V13 T -2/3 i
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Ko 7. If y = y/cosh(y/x), then y - ¢ =
iy\\;;;h
| inh(y/7)
(a) — s
4}1\(/3) yla . SWh(R) _}_
Sin T g
B = 2 JCosh(D)
(c) sinh(v/z) \ S (V)
(d) 24/ sinh(/Z) E 2w ' 2 N>
(e) ity ) / Sinhy (W)
= 9% T Ty
#3%

<21 8. Inan electrical circuit, the voltage V, the resistance R, and the current I are related
by the equation

V=IR

If R is increasing at a rate of 2 ohms per second and V is increasing at a rate of 3

volts per second, then the rate at which [ is changing when V' = 12 volts and R = 4

ohms is equal to dR dV _3 dl .9 ,Veld; L=
i B T |

\\l/

3 e
(a) o amperes/sec (correct)

3 V.1 ;
(b) —= amperes/sec dR L

2 dv 'S

5 (}t = 1 _A_t * _A_E.
(c) —— amperes/sec dt

4 PR TR -

1 3
(d) ~3 amperes/sec b o

1 362 T
(e) —3 amperes/sec

'———) ..?\-;1 === "§_" '
J€ 4
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5.0 9 f(@) = Yo+ 5, £(1) = & then f(4) =
_\/7-
erfx) = £3 +§\ *
(a) 3 \/_ 4+1 ¥s = (correct)
(b) 4 foy =2 +d 2 X + C
(c) Va4+1 N
R < +
(d) 2V -1 L : =
3 O L =
(e) 3v4+2 201) =%+| e DTG vl 4 =
4
) 4 3 /3 3\‘—“—
P = Y
P :-3- § et . 4

: ey N

k-]
:S_.Q\J‘l_'t'l“

: 3354 +1

- # S | Fb(JJ \\t\ltm '“}\1’

10. The set of all values of z at which f(z) = — +/x — 1) is continuous is

(a) [1,2) (correct)
(b) [1,00) . =t e W xAYe
e i = Jxa <) ¥ x2!
(d) [1,4)

sy e Wl
(e) (1,2) e e

—) [;‘fl.).
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g2 1L 1t

b x x|

ar—2 = >1

/
f(z)={”°'”2 s : Mﬁ?

a x5 |

is differentiable at x = 1, then ab =

. Conbmwdvy ek X 21 ¢ \‘W-‘t(") i \'““fw

(a) 8 = - NP (correct)
Vi AR e
SRR IR S
(d) 6 ' STEY e e
(e) 3 Y= 2
o =
(=) n i - b:QB g S azH
, ab = WY
e i

#2 Cﬂqs Roview Y l‘}gj
12. If M and m are, respectively, the absolute maximum value and absolute min-
1 2
imum value of .f//x) -3 +R2L

f(z) = 2* + 62° Y 4 (2L +Y)
/ - X = -t
on the interval [—6,1], then M +m = f (x) - = X=9 !
(a) == (correct)
(b) 0 _?(o) 2 O | a0
(c) 39 24 ‘--—é“f:' c’f’ =9
(d) -7 f(_(.)z-—G +&6 =0
(e) 22 'P (3 = 1 +6 ~ *+
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13. The absolute minimum value of f(z) = In(z? + 2x + 3) is equal to

(a) In2 = (correct)
290 %
(b) In3 o e
+ 2
(c) 2In2 g o
(d) In6 . £@ =0 = 2x 4320 = X =~
1 X2e2x 43 = = Complax e
() =In3 .
Seiia
N o S
Lot Cm&
= MO\\DSO\KtL— giakiact e
mb ey
C\‘bs‘m‘f\ Vc\\\q_ e T )
Pl < (4 -2#3)
2 I
it B kiis Sk
#3l Y < =
14. The graph of the function f(z) = e %/~ L ) - e X
Domam (~a2,¢) Ulo, )
ey R
(a) has one inflection point ; é"x - '51 = &._:2X (correct)
‘ X
(b) has two inflection points b 3 ’(x) =3+ = s
; I
(c) is concave upward on (0, 00) 3 g" _ax e
3 28 e
(d) is concave upward on (E’ oo) =3 x 3
3 T e
(e) is concave downward on (0, 5) e, = o
L
5 g T SRR,
—_— L™ J |
R S
2
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15. The graph of the function f(z) = 30 Inx is

Domam 1 (0, 2)

a) increasing on (1, oo (correct)
() incrasing on (1,50 e e .
(b) increasing on (0, 1) . v oC
(¢) increasing on (0, c0) » '.I’?-! S Ao e
(d) decreasing on (1,00) . Ao & domam

i /
(e) decreasing on (0, 00) Wy e

ov ;

£ 3 lreasing e (1,2)

uH#1Y S“‘r. 5

16. If the graph of f(z) = 2® + 3kz? + 1 has a local minimum at z = 10, then k =

(a) -5 (correct)

(b) 5 $69:30 4 Gl

(c) g = 3x (X +2K) o fred
/ A i ~ Ve e ?OSSIb [

() __g_ Po)so =2 ¢ 20, & ==2 .

LI'CAQ
-3
(e) i (f’#“l
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g
& 4.1 17. If (a,b), where a > 0, is the point on the curve y = z? that is closest to the point

(0,4), then ab = ) o e
0,1: (x-0) + (4 “‘)L : DR Y 6 9)
FF(") - D(,'L-e (X‘L—‘-l)'z = 'X_L +X =8 X +\("

7V/14
) : - (correct)
(a) e
s fix) = x T +\6 ;
v plg co = iy waNEy BEE
e} 5= L E TR O
\/ﬂ —_— SN
o P = vax =14
X) = = y
m M =22% g =) X+
©) E flf(&) - 12 .1: iy = 42 =M >¢
* %3
3 - 3
8 X “\I:L' 3 X ¢
g a2
=) Q< \y; ] b =g J\_
:}—ﬁ (z - —1-———:‘
= b=% i B i |
Q. od o W~
i 2 3 — O ¢ (""w) 2
18. EIH&I (Inx) LD 'Q' (/Qm)() &
- f)c_'c'f m—-l
(a) ! (7 : = = . e (correct)
LI 3W) T |l _3 . s -
(b) 3 M9 a e s ——I—OL
. ; B
(C) ‘2“ Url_l 3 2,0.«.;( - £ +% ,Q,‘-r_ =
= v “i : e )‘*}J" xl
(@ -3 st i
_Z -+ ; -3 20
e --3 . =t il
(e) e i llm -+ §— N _____).E:——-_ - “\N\ .—’1-— fx (_1

X—a" - -2 nC Y
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afent Ge ARUENSCEEEC SR “_'2 = b
2T _ 1 5 ¥ou r, 25 X3l {
19. lim ( ) = o (2 :
i —-I
L
(a) 2 J o\( (correct)
(b) 1 Vi ,Q,\j 3 g‘”lj_ -
b oou B k—).u 2C
o ﬂ,‘t e (2 ~1)
(C) 5 L_’_LL. "m L——Z.,;'::\ : :(.2
(d) 2In2 S \
) In2 \ Duz - (Z-)
(e 9 = ,.:“_';,__, " (,Lk_')
'-—-\l'-v\ Zx‘c“l‘ - ._\_
\K_)bl y 2’-—\ 2
L) &
N T R W
= Sy ’Z.K-Az
i
o o
:}Ioﬂ’,‘} 5 \
20. Which one of the following statements is TRUE abouéc the function
&) — gfow]
f(x)z{a:sm() £#0 5(0}:}(‘:0 g7y
0 z=0
l XS'M(.‘}‘) =0
= e
T XA -
b sSw(i) DONE
a) f'(0) does not exist X6 (correct)

(
(b) f(0)=0
(c) £'(0) =

(

d) f is not continuous at x =0

(e) f is not continuous at z = 1

Ve F) = W x4 (3) =0
)r—:; iy )

Sﬂ\\)\-e.a 1 c’T\'\h

7 3—((‘:}

= £ s Conds % %20

=) P Cords on (-—OU/"")
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